FIMET T —-DLI =

BER SM07T46R168 BEOILTJEER
OUT | IN | GR | HDGP | NET &E HASP || IBfL K £ OUT | IN | GR HDCP NET e #13P
44 | 49 | 93 |21.6 |71.4 10000P || 31 |#k#&H EX 47 |53 | 100 |22.8 |77.2
41 | 45 | 86 |13.2 |72.8 |M73v1H 10000P || 32 |#FIR IEBA 51 |47 | 98 |20.4 |71.6
44 | 48 | 92 |19.2 |72.8 |=TEU5H 8000P || 33 |F# =¥ 53 |51 (104 |26.4 |71.6
49 | 55 |104 |31.2 |72.8 5000P ([ 34 |/kE 34 52 |54 | 106 |27.6 |78.4
40 | 44 | 84 |10.8 |73.2 5000P %JK —1& 48 |50 | 98 [19.2 |78.8 4000P
41 | 42 | 83 | 9.6 |73.4 36 |KiL B 44 |46 | 90 |10.8 | 79.2
38 |38 |76 |24 |73.6 |[~NakG 8000P || 37 |fNIEHR HF— 48 |54 |102 |22.8 | 79.2
41 | 41 | 82 | 8.4 |73.6 38 |Bk MBE 48 |47 | 95 |15.6 | 79.4
9 EER # 42 | 40 | 82 | 8.4 |73.6 39 MR EAT 51 |60 | 111 |28.8 |82.2
n:n:&] GEES 35|45 | 80 | 6.0 |74.0 |=FEV17H 6000P Bk EEF 53 |50 [ 103 |20.4 |82.6 |BB 4000P
1M MEXR BA 41 | 45 | 86 [12.0 |74.0 Y = 51 |51 | 102 |16.8 |85.2 |EAEI& 4000P
12 |BK  #IL 46 | 51 | 97 |22.8 |74.2 |=FEV14H 2000P
13 |Aw BmE 47 | 50 | 97 |22.8 |74.2
14 &% &E— 43 | 47 | 90 [15.6 |74.4
== 49 | 47 | 96 |21.6 |74.4 4000P
x— 43 | 40 | 83 | 8.4 |74.6 |HBHE 7000P
& 43 | 46 | 89 |14.4 |74.6
18 | k& A 43 | 44 | 87 |12.0 |75.0 |=FEV7H 2000P
19 | FAE #* 43 | 44 | 87 [12.0 |75.0
%"—ﬁﬁ A 41 | 39 | 80 | 4.8 |75.2 |F7avi12H 6000P
21 |fEAT BR 54 | 50 |104 (28.8 |75.2
22 |FTAtkE EF 38 | 47 | 85 | 9.6 |75.4
23 |FRE W3 50 | 53 103 (27.6 |75.4
24 | KR FEIE 49 | 41 | 90 [14.4 |75.6
#5% eS| 39 | 50 | 89 [13.2 [75.8 4000P
26 |3A F 41 | 48 | 89 [13.2 |75.8
27 |piE EHF 40 | 47 | 87 (10.8 |76.2
28 |HE MME 48 | 49 | 97 (20.4 |76.6
29 |FRith A0 49 | 47 | 96 (19.2 |76.8
11%.: 2] 50 | 52 102 |25.2 |76.8 4000P
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